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import pandas as pd

import seaborn as sns

import matplotlib.pyplot as plt

import matplotlib as mpl

import numpy as np

plt.style.use('ggplot') # R2l ggplotelOlEciel 2t Hl=x=st

print(pd.__version_ )
print(sns.__version_ )
print(mpl._ version_ )

iris = sns.load_dataset("iris"
iris

SEHE H83.(1.41014)



sepal_length sepal_width petal_length petal_width species

0 5.1 35 1.4 0.2 setosa
1 4.9 3.0 14 0.2  setosa
2 4.7 3.2 1.3 0.2  setosa
3 4.6 3.1 1.5 0.2 setosa
4 5.0 3.6 1.4 0.2 setosa
145 6.7 3.0 5.2 2.3 virginica
146 6.3 2.5 5.0 1.9 virginica
147 6.5 3.0 52 2.0 virginica
148 6.2 34 54 2.3 virginica
149 5.9 3.0 5.1 1.8 virginica

150 rows x 5 columns
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plt.title("IRIS Petal Width") # M=
plt.xlabel("Width") # x dlOl =
plt.ylabel("Count™) #y dol=
plt.hist(iris['petal_width'])

(array([41., 8., 1., 7., 8., 33., 6., 23., 9., 14.]),
array([0.1 , ©.34, .58, 0.82, 1.06, 1.3 , 1.54, 1.78, 2.02, 2.26, 2.5 ]),
<BarContainer object of 10 artists>)
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plt.figure(figsize=(10,6))

plt.title("IRIS Petal Width", fontsize=25, y=1.01) # y : JHZ22H HSIX
plt.xlabel("Width", fontsize=15) # x dlOl =

plt.ylabel("Count", fontsize=15) #y dol2
plt.hist(iris['petal_width'])

(array([41., 8., 1., 7., 8., 33., 6., 23., 9., 14.]),
array([0.1 , ©.34, 0.58, 0.82, 1.06, 1.3 , 1.54, 1.78, 2.02, 2.26, 2.5 ]),
<BarContainer object of 10 artists>)
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iris.columns

Index([ 'sepal_length', 'sepal width', 'petal_length', 'petal width',
"species'],
dtype="object")

fig, ax = plt.subplots(2,2, figsize=(12,8))

ax[0][@].hist(iris['petal_width'], color='deepskyblue")
ax[0][@].set_ylabel('Count', fontsize=15)
ax[0][0@].set_xlabel('Width', fontsize=15)
ax[@0][@].set_title("IRIS Petal Width", fontsize=14, y=1.01)

ax[@][1].hist(iris[ 'petal_length'], color="deepskyblue")
ax[@][1].set_ylabel('Count', fontsize=15)
ax[@][1].set_xlabel('Width', fontsize=15)
ax[@][1].set_title("IRIS Petal length", fontsize=14, y=1.01)

ax[1][@].hist(iris['sepal_width'], color='dodgerblue")
ax[1][@].set_ylabel('Count', fontsize=15)
ax[1][@].set_xlabel('Width', fontsize=15)
ax[1][@].set_title("IRIS sepal width", fontsize=14, y=1.01)

ax[1][1].hist(iris['sepal_length'], color="dodgerblue")
ax[1][1].set_ylabel('Count', fontsize=15)
ax[1][1].set_xlabel('Width', fontsize=15)
ax[1][1].set_title("IRIS setal length", fontsize=14, y=1.01)

plt.tight_layout() # ME =ZX0 XX £EE AAs2=2 =&
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iris.columns

Index([ 'sepal_length', 'sepal_width', 'petal_ length', 'petal width',
'species'],
dtype="object")
fig, ax = plt.subplots( figsize=(6,6) )

ax.scatter( iris['sepal_length'], iris['sepal_width'], color="sandybrown")

<matplotlib.collections.PathCollection at 0x24f66a94b50>
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fig, ax = plt.subplots( figsize=(6,6) )
ax.scatter( iris['petal_length'], iris['petal_width'], color="sandybrown")

<matplotlib.collections.PathCollection at Ox24f66b52fdo>
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cols = list( iris.columns )[0:4]
cols

["sepal_length', 'sepal width', 'petal_length', 'petal_width']
iris.species.unique()
array(['setosa', 'versicolor', 'virginica'], dtype=object)

# virginica®l 21=2 442 LN E&
[ iris[ iris.species == ‘'virginica'][one].mean() for one in cols ]

[6.587999999999998, 2.974, 5.5520000000000005, 2.0260000000000002 ]

# setosa?l =9 4019 IX E
[ iris[ iris.species == 'setosa'][one].mean() for one in cols ]

[5.006, 3.428, 1.4620000000000002, 0.24599999999999997]



In [37]: # versicolor@ =2 449 LN EZR
[ iris[ iris.species == 'versicolor'][one].mean() for one in cols ]

Out[37]: [5.936, 2.7700000000000005, 4.26, 1.3259999999999998]
In [40]: # x= dl0l2 &2
X
In [41]: # setosal AN=2 49 IXH EH
setosa = [ iris[ iris.species == 'setosa'][one].mean() for one in cols ]

In [42]: # setosal =2 449 IIHd EF

setosa = [ iris[ iris.species == 'setosa'][one].mean() for one in cols ]

# versicolorl AE=9 449 LIXNH &H

versi = [ iris[ iris.species == 'versicolor'][one].mean() for one in cols ]
# virginicall 2S°l 442 IIH

virgi = [ iris[ iris.species == 'virginica'][one].mean() for one in cols ]

In [43]: plt.figure(figsize=(15,190))

plt.subplot(2,2,1)
plt.bar( x, setosa )
plt.title("setosa")

plt.subplot(2,2,2)
plt.bar( x, versi )
plt.title("versicolor")

plt.subplot(2,2,3)
plt.bar( x, virgi )
plt.title("virginica")

Out[43]: Text(0.5, 1.0, 'virginica')
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* https://matplotlib.org/3.1.0/gallery/color/named_colors.html

* last update : 24/06, @by DJ, Lim


https://matplotlib.org/3.1.0/gallery/color/named_colors.html

